Homework 12

sechon @.l

62) A soap manvfacturer estimates that its marginal cost of producing soap powder is C'(x)=2x+100

ddllars per fon ata production level of X fons per day. Fixed cosks are 8200 per day. Find the
cost of predocing x fons of sbap powder per day
C'(x)=0.2x+100 , ClOd=200

cL= S(01x+|oosdx = 02 2+|oox+c- O.1X%100X+C x

ClOI= D1(OY*+I0D(D)+ C=C = C=200
$0 [0 = 0.1 x*+100X+200|

sech

36) A companys marginal cost funchon s given by C'(0= 32+ %20, where X denotes the number
of items prodoced in 1 day Ond c(x) is in thousands of dollaws. Determine the increase in
Cost i¥ the company goes from a production level of 15 to 20 items per day

c'c>o=?>7_+2iD wont ¢(20)- CLI5)
- = [*°(224 2 ) dx= 1ox2 | =3+ X |2
C(20)- c1%)= J‘,s (32+ 20) dx= 32x+ 2072 | =3¥2x+45
3

= Qo»* us)? \ ~
(32(207*« W)‘ (32(16)+ o > 2|8 164.28]
Section 6.5

1) Find the consumer surplus for each of the following cemand curves at the given ales level x:
2
P= X~ -x+b0; x=20

csc\;)r:%l)\gvs\er J"[(zoo_x 5(>> (%g— 20+50)]dx j <200—x+50-2+20—€>0>dx

_ X3 _x* _ Qo) A)l
I (ke = - e 172 Q92 - QO is(a0) iz 23]

22) Suppose that money is deposited daily in a savings account at an annual rate of 82000. |£

the account pays 6. interest compounded continvously, approximately how much will be in the
account at e end of 2 years?

5 2000 €. 0.06(2 t)dt _ S ZOOOE?D'QOO(D dt = ZOOOGOQKZ —oobbdt ,¥
-0.06% -0.12
‘ZDOOE’,OQ SD.T > 2000¢e olz fmp ‘_0—0(9 =184249.90




Section 1.1

2 Let gUx,y)={x*2y> .Compote gCi,), o0, ond gla,bd.

gxXy)= {x*+2y?

g = {han? = w7 =[[3]
glo = (Y +2Cn*'= {o+2 = F
9ta )= {(ay*+2(0)* =

8)Find a formula Clx,y,2) that gives the cost of material for +he rectangular figore with

dimensions in feet. ASsume that the moterial for the top costs 83 per square foot and +he

material for +he back and two sides costs 35 per square foot

i

D/\“ Yop:
. 83 per g+

X

[cogy,2)= Ay+2(5y2)+ 65Xz ]

W

Sides (lwo of +hem):

z

85 per sq £+

10) Let £(x,y)=10x"6\¥5. Show +hat £(20,3b) =3$(0a,b)

Foxyd=10x"8y¥®
£(a,0)=100"® b¥®

back:

$(32,2b) = 10(32)5(3) Yo = 10- Z/20"5.3 ¥ Y8 = |0 . 3o ¥ g Vo= - 3q s b

=3 (100> b*%)= 3f(a,b) v

Classwork graded: cw1q # 3, Cw20 #2,3
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85 per sq



